
0 20000 40000 60000 80000 100000 120000

2.
72

2.
75

m
c

134000 iterations, 135 draws from 4 parallel chains.

0 20000 40000 60000 80000 100000 120000

0.
12

0
0.

13
5

η

0 20000 40000 60000 80000 100000 120000

49
.9

96
50

.0
02

t c

0 20000 40000 60000 80000 100000 120000

0
2

4
6

φ 0

0 20000 40000 60000 80000 100000 120000

5
15

25

d L

0 20000 40000 60000 80000 100000 120000

0.
0

1.
0

2.
0

3.
0

ι

0 20000 40000 60000 80000 100000 120000−
23

50
0

−
23

40
0

lo
g 

po
st

er
io

r
ac

ce
pt

an
ce

 (
%

)

0 20000 40000 60000 80000 100000 120000

0
20

40
60



2.716 2.718 2.720 2.722 2.724 2.726

0
50

15
0

25
0

mc

N = 6876   Bandwidth = 0.0002496

D
en

si
ty

0.120 0.125 0.130

0
50

10
0

20
0

η

N = 6876   Bandwidth = 0.0003609

D
en

si
ty

49.996 49.998 50.000 50.002 50.004

0
50

15
0

25
0

tc

N = 6876   Bandwidth = 0.000259

D
en

si
ty

φ0

N = 6876  bandwidth = 0.2188  kernel = epanechnikov

D
en

si
ty

0 π 2π

0.
0

0.
1

0.
2

0.
3

2 4 6 8 10 12 14 16

0.
00

0.
10

0.
20

dL

N = 6876   Bandwidth = 0.3205

D
en

si
ty

0.2 0.4 0.6 0.8 1.0 1.2 1.4

0.
0

0.
5

1.
0

1.
5

2.
0

ι

N = 6876   Bandwidth = 0.03185

D
en

si
ty

true parameters:

mc =

η =

tc =

φ0 =

dL =

ι =

2.722

0.1268

700000650

2

10

0.7854

Every 50th out of

iterations 20000 to 134550

from 3 parallel chain(s)

(6876 samples).

Mean acceptance rate: 41.4%
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